H & Ol & AF S E Al A
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0238 201&F Lo SHAALA
M BRUATAIRIA
M AATIAMANE2E (St 2t2/22)
el SR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHIAAALH A 11,136,595 8,984,182 2,152,413
= 1,800,000
= 9,336,5%
AATIAMANE 2 (St 22/ 22) 10,623,511 8,224,418 2,399,093
== 1,800,000
[Ea 8,823,511
SR 558,114 509,383 48,731
AAZ DR 2 542,246 497,961 44,285
201 Ler23 | 366,456 418,171 A51,715
01 At2t2ltl 102,680 102,680 0
O&I|gH|2e] A2F 2¢
1,000,000 #33] 3,000
OdJletdZelid 4|
800,000 *30H A=+ 123 28,800
Oaxgotdze|the SAHI(FM2, S5,
ESEF M2, RSHAZ)
500,000 x4 2% 123 24,000
ORelZHIEAHI(=H2, 352, S35
HEf2, RSTAIZ)
500,000& x40 2=+ 123 24,000
OsZoetdze] SAHI(FH2, 52, &
ST MEH2) 350,000 #30H + 123 12,600
Os21 FIIBA ==2(FH2, =5,
ESEF ME ) 800,000 12 800
O&I| MHEH = 400,000 <22 800
OFMAAZAIGA AR =S ?IE S2
R 8,000 x4 +102x 12 3,840
O&F=)| dER 40,0002 *3CH* 12 1,440
O&FAM2el A2F 7Y
100,000& x105+32] 3,000
OSd EYU=2 AIHE €4 7¥
20,0002 =104 200
Oo+g%s Y 100,000 <22 200
02 S3=gHl 263,776 315,491 A51,715
(OFSPIETE= 15,000,000& «12& 180,000
Odote=Er= 3,000,000& «12& 36,000
ORggs =tz 50,2502 +3CH* 122 1,809
OAYtMHEBIHI(FHI2, SSEF MEH2)
94,0002 %12 194
OA=2 RANE=HI(FHZ, S 5)
5,000& *3,000m 15,000
O2gE dMEE FR7Y (S5, &3
FHER2) 1,7403%148 ¢ 258
O&AIZ & B A5 o8
500,000 *32 1,500
OgEsal4ddl K2+t
1,000,000& ~12& 12,000
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A FSHAAZAIH A
HH: AATDANANYRY (DU BT)
el S22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAIMIO (CCTV) &I RXIL2=HI
500,000 * 122 6,000
O&JINSAE =Al2teldl 7,800
SIS AE =2l 800,000 *x3CH*23] 4,800
-HiElel & ARE 2
1,000,000 *3CH 3,000
OS82 FEAHI(FHZ)
400,000& 204 2-+12] 800
OHl&2dI| sXi2el 2,415
-Hagd)| RR7Y 1,740 468 £ 815
-BiElel, 22, AN e WX
800,000& 22 1,600
202 04t 2,400 2,400
01 =LHOHI 2,400 2,400
AAZAAC B =8 =0
20,0002 %1012 2,400
203 =4l 3,000 3,000
03 A=A 2= 3,000 3,000
OUAZZY 2% AREZ
3,000,000& 3,000
206 M=l 20,790 24,790 24,000
01 MZH| 20,790 24,790 24,000
O&I| AH-E 20,790
~F T XHE] (300,500, 75 S 63)
50,0002 *60K 3,000
- THEZI1(10KW, 50k £ 48)
100,000 *30H 3,000
- ERFED1(204B/225 2| 4F)
150,000 *25H 3,750
-CVAI0I=(2.550, 4.05Q 2l 25)
1,500 +800m 1,200
-E XSS (1M,3M,5M) 15,0002 *50H 750
EIRIS BT, OHED|(Thn)
265,000 *3IH*20H 2 1,590
FAIP BEDYU(END, 352, H2UF
AERZH) 500,000& *3JH 2=+ 12] 1,500
-II2S S (LEDSW) &
40,0003 *25H 1,000
-OptE 2 2as Y
500,000& *10H 5,000
401 AIEHIX R0 149,600 49,600 100,000
01 A28l 149,600 49,600 100,000
O&IIEH RXE+ 33,600
-AARZE M| M2 RXE2s
500,000 * 122 6,000
—dESASE d)|HE H2 FAES
500,000& 122 6,000
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A FSHAAZAIH A
M AATIAMANE2E (St 2t2/22)
el SR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-OptE 2 Mojgd, 82 FAES
500,000 * 122 6,000
-AAREAE JIRS, BaALE FAES
500,000& * 128 6,000
-~HEHSASE 2SS, 32X RAUES
400,000 123 4,800
-ORtE & OIS, JH A8 RAEs
400,000 12& 4,800
OLHHISH &AI &J] 2td &K
11,000,000 * 14! 11,000
OLHIEH A &I Tt 7
5,000,000& 12 5,000
ONATLD LI MERR HAA SETA
100,000,000 14 100,000
PN S INE 15,868 11,422 4,446
201 Zet=3h] 15,868 11,422 4,446
02 S3=gHl 15,868 1,422 4,446
oSt 288 500,000 4CH 2,000
OZEXY FFU
1,840+ 1502 | B =401+ 123 13,248
OZsiteg SFNERE= 300,000 300
O2SXtE ASIHA 200,000 1 200
OozEsxtE FoldM= 120,000 120
g2 1,327,369 1,805,481 A478,112
AAZSE SADHE 2 6,440 10,250 23,810
201 2= 3,500 7,100 23,600
01 At2t2lt] 3,500 7,100 23,600
OgAnzd 882 &% M
1,000,000 1,000
OAAZZA 2 22re M
500,000 500
OAAZZH 2 cIZH HH
500 *4,0002 %12 2,000
202 04l 2,940 3,180 2210
01 2LHoIH 2,940 3,150 A210
OSd2g HX0E 9% =8 Ul
70,0003 x142H+32 %13 2,940
Sd 2gacl 231,420 255,111 A\23,691
101 @12A4H| 131,020 123,311 7,709
04 JIZtN22 XS 2+ 131,020 123,311 7,709
O33 Ea 2l 2R 65,510
-Jl=s 76,9603 x2EH x249 »8(% 30,661
-ReI2fsg 115,440 x2E x 1162 +80% 21,426
=s5=g 76,9603 «2H x522 +80f% 6,404
-4t EER(METRES)
58,491,600 *12% 7,019
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Hu: AATDAMANESA(SSURT /D)
el 2g2e EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OZFAMIAE RE22Y 2FY 65,510
-2 76,9603 x2E 2492 8% 30,661
-SY2fsY 115,440 2 * 1162 x80% 21,426
-=RE 76,960 2% 522 *80% 6,404
Al BEZ(ALXREER)
58,491,6002 *12% 7,019
201 L2 | 81,900 87,800 25,900
01 AtR2telt] 21,900 24,800 22,900
OAMAE 29 AMZ2(EHI2)
3,000,000& 3,000
O3& &4 Hid dE=
25,0002 #28CH* 122 8,400
Oz#SY B LSE S 7Y
2,000,000& 2,000
ORBHUSY BE 24Z A2F 7
6,000,000& 6,000
OUHEA S 28H&H| Ix=
2,500,000& 2,500
02 E324Hl 60,000 63,000 23,000
O SUFME2 sHHEH 28 =
20,000,000 20,000
OB BYW AUty 2E2
20,000,000& 20,000
O2s01E Il 282
20,000,000& 20,000
307 QI2H0| A 1,000 1,000
06 283 1,000 1,000
OZ& 23 JJia 28 s
1,000,000& 1,000
401 Al&HIZ20HY| 17,500 43,000 A25,500
01 AlEHI 17,500 43,000 A25,500
OESYFME2 RX2el B+
10,000,000& 10,000
Os=stE4a |2l 2+
2,500,000& 2,500
OHES B I TN DA
5,000,000& 5,000
S A2 2Z 402,191 402,191
101 @I24H| 268,701 268,701
M IIRIZ2Z2XSE+ 268,701 268,701
ASEAZ IR 204,716
-JlE2=s 76,9603 x5 % x2492 95,816
-522FE 115,440 x5 » 1162 66,956
=5 76,9603 x5 x52 20,010
“4UEES(AIEXEES)
182,782,000 *12% 21,934
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A FSHAAZAIH A
M AATIAMANE2E (St 2t2/22)
el 2gae EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAZEAZ Z201E o9
192,0002 * 102 +32 43 23,040
O2sFEdAIZ 2RY 40,945
-Jl=s 76,9602 x1H %249 19,164
-Re2fsg 115,440 x 18 +116& 13,392
=s5=g 76,9603 x 1 »52 4,002
-“AHEEE(MLNRLES)
36,558,000 *12% 4,387
201 fer=3| 30,780 30,780
01 Al 22| 8,620 8,620
OZAFAIZ 22 £8S 918 S2OHAY)
8,000& 4 *60 1,920
OFAIZ A2 EE HE 7
5,0002 *5007H 2,500
OFANZ 29 425 7Y
300,000& #2327 A 4,200
02 s3=ghl 22,160 22,160
Obtisalg2 22| 7= 22,160
3% 1,840 +502| E1*100& 9,200
=7 1,620 +802| & 100 12,960
202 048l 5,040 5,040
01 2L AL 5,040 5,040
O&AIZ HE HF =& L0
70,0002 x4 *x32 +63] 5,040
206 M=l 70,670 70,670
01 MHZH| 70,670 70,670
OUsA=2 HEE 3|7 &= 7Y 5,000
-tt= 50,000& x505= 2,500
&l 100,000& 255 2,500
OlsAlZ2 222 Mz #Y 4,320
-2 15,0002 +200% 3,000
H& 6,600 *200% 1,320
OXAME 2 XIAE 2
1,000&2,500= 2,500
OXAdEf2 HEE xalz 7
10,0002 x400=+23] 8,000
OXAMEf 2 221=, ST S 22N 2
g 10,0002 +x65 400t 2| 2,000
OXS A2 2257 2
50,0008 =400t 2,000
OZlgdsga HEE R 7
150,000 *1005= 15,000
OzlstZsgdat AEE 37 &= 7
10,000 *505+10=2 5,000
Ozlgdsga 22l ZHEH 7
5,0002 x400% 2,000
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S ESHAALAIRL
M AATIAMANE2E (St 2t2/22)
el 2gard (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFMASE OEE 312 72
100,000 *20H 2,000
O%=MAST HES 22 7Y
200,000% %305 6,000
OxdAlS2 228 M2 72 3,200
& 6,600 * 100X 660
-OtALE 5,500 x200 1,100
-—4Ey 8,800& *50% 440
-RYtlE 10,0002 * 100X 1,000
OLMASE 017 010 2
55,0003 30 1,650
OTAIZ Al g2 7
20,0003 *200H 4,000
OTAIZ A= ESoll ZHl <Ml 7
20,0002 x205+20H 8,000
401 Al HIZL S 0HYI 27,000 0 27,000
01 Al&HI 27,000 0 27,000
OAlZEAIZ AMIEE RXIZa
2,000,000 x4= 8,000
OzstBsgat 2ciol EXISAH
4,000,000 4,000
OSHMUEI NAME2 22H HE
15,000,000 15,000
=018 29 653,408 662,403 28,99
101 @124H| 336,430 369,608 A23,178
M ORIMZZ2NSE S 336,430 359,608 N23,178
OS=s01% dg7x(22)28 oY 41,421
- 156,000 x5 & 26 19,500
-5< 234,000 x5 13 15,210
-=5d 96,0003 5 +7& 3,360
-4 2EEZ(METRESR)
38,079,540 +8. 8% 3,351
O==018 287 UFY 268,156
-8 105,820 x45FH x25 119,048
-5< 158,730 x50 « 13 103,175
=58 76,9603 #4657 24,243
-4 2EE2(AENHRE3)
246,477,270 +8. 8% 21,690
O==01& 02t 224 oFY 17,753
-8 153,920 x2& »30! 9,236
-5 230,880 x2H 13 6,003
=s5=g 76,9602 x2H 7 1,078
-4t EER(METRES)
16,317,000 8. 8% 1,436
O==018 28a% s 27= 7Y 9,100




M BRUATAIRIA
Hu: AATDAMANESA(SSURT /D)
el 282 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-EIHd= 50,0002 702 7,000
-2X 30,0003 701 2,100
201 fet=23y| 99,148 128,265 A2 117
01 AtR2tc|HI 47,640 71,257 N23,617
OSs01% 29 HEAAE 2=z
900,000 *7TH 6,300
OS=018 2ERF IsIME
130,0003 *3& *13] 390
ORFAIE HHWS FHItY]
100,000& »20H 2,000
I Zo1otEd HA
400,000 x4 CH*12] 1,600
O==018 =&23A 50,0002 x3CH*32] 450
02207 29 73% 7Y
900,000 900
O==01& &3t 24 7Y 600,000 600
O==018 A8, d+= 5 78
6.,000,000& 6.000
Oulz4 HI0OIEE Ulets Y
150,000 *20H 3,000
O=3U04A 28 28 224 =58 F¢ 13,600
- X 20,000 »350K 7,000
-=ci0lEE EN 1,000 *1,000K 1,000
-sel0lE8 §E 20,0002 *150H 3,000
—2gRe 13,000 *200H 2,600
O==018 82= N& 4,500
S5 OHY B0 HIN
2,000,000 2,000
-HA 2H S=01E 20|
2,500,000& 2,500
OS=01d 28 AT FH(2S2UA, =
N EC )
100,000 *300H 2 3,000
O2s0l ¢ =2l
2,000,000 2,000
OS=01 A4 X & I ZHl LXBI(
3ael, XA 550,000 6! 3,300
02 S3=gl 51,508 57,008 25,500
O==018 82 R¥R=
4003 +2,250% 900
OS=01d SE X AIAHE |X2=
3,950,000 * 104 2 3,950
E=01Y otk 2=
7,400,000 22 14,800
OF==AIE ASIICL, H)2E |
2,000,000& %12 2,000




M BRUATAIRIA
Hu: AATDAMANESA(SSURT /D)
el 2g2e EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oss01% A=E FNE=
2,000,000 *30H 2 6,000
OJIAHA & 2Ot J1D1EEl RAIE=+
1,550,000 *2JH 2~ 3,100
OLtEZ JIAHA Y=HA
5,000,000 *37H 2= 15,000
O=AEH 2221 WA
50,0002 5074 2,500
O=HXel == &E WXl 3,258
=J|O{A/2H S (2004, 250A, 300A)
414,300 404 1,658
—giItH A4 S (100A, 150A) 320,000 *54 1,600
206 =8l 17,830 20,530 A2,700
01 M=l 17,830 20,530 A2,700
O=xcl 45 7 3,000,000& 8,950
—-ol0I2E 362,500 *4 3| x20H 2~ 2,900
-STH ¥ PHEZEA
333,300 32 x20H 2 2,000
-ASHAH 81,0002 *25H 2K A 4,050
O0lny gxs HE
480,000 362 2,880
O=&&3&H| ¢ 1,500,000 *4CH 6,000
401 Al HIZLS0HY| 200,000 154,000 46,000
01 Al&HI 200,000 154,000 46,000
OLIEZ A&Z 3t 70,000
~&I1A 2 OOIHA B4
15,000,000 274 2 30,000
A HEIM Sa BA
10,000,000 * 10 2 10,000
Al B ORI B4
15,000,000 x2JH 2~ 30,000
O2=01E HIHHE ZEXI3A
30,000,000 104 2 30,000
O==01& A% ExIEA
20,000,000 *1JH 2 20,000
OscelOIEEE AEE El 40,000
~JEIZ20IE URaY U DR
10,000,000 274 2 20,000
-£2t01E AHIEH & HtY 2=ZA
10,000,000 x2JH 2~ 20,000
OHEHA SHESHIEM L HigE2+3
At 20,000,000 *2IH 2~ 40,000
WA =X 33,910 877,717 A843,807
201 Let23| 8,910 12,710 A3,800
01 ArR22teltl 8,910 12,710 A3,800
OUAT 42 =X SABX L £ 7Y
250,000 *33] 750
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A SHAALARS A
M AATZAMANE 2 (2L 22/ 2Z)
el 2g2e EER=E)
2 - IE!
S B SR(BA) - NIRAY - BES ol ke e HimES]
OMAT 2 23S 9/t S04l
8,000 x2H+60 960
OM2=XE Ab=Al 2EE I =8
3,000,000& 3,000
ON2=xt& Ar2Xl i E ===
2,000,000& *13] 2,000
ONP2=XE 22X RS (7E X 1,369m)
2,200,000& 2,200
401 AlIEHIZL R OHYI 25,000 849,040 824,040
01 Al&HI 25,000 849,040 AB24,040
OM2=XE SA 2= SA 25,000
-H2==XHE e M 6,000,000& 6,000
-H2=Xt& F=Xtetel EH
12,000,000& 12,000
-H2F=XE SMEd &Y
7,000,000& 7,000
NA=H&4st 3,268,359 2,088,360 1,179,999
SHAE 343,560 2,028,360 A\ 1,684,800
201 23] 81,960 93,760 A 11,800
01 AtS2teltl 81,960 93,760 211,800
OZHTE Y248S 95 =204
8,000 x2H+60 960
OUHICHEM SAHL SEH]
8,000 *250H 5 10,000
O=&UHE SAA =EH|
8,000 «200H 6! 9,600
OFNE 2l =7 Fdl X=
16,000,000& *23] 32,000
OFMNZR= Yl
170,000& x 150 *13] 25,500
Odctgr: HESM LEEIL PPT MA|
150,000 *26Z+13] 3,900
202 04t 65,600 3,600 62,000
01 3LHO LI 65,600 3,600 62,000
O=HEE R =2 o] 2,600
ERAE AL 3 o8I (2U)
20,0002 2% +30 1,200
-ESHXE L HXI0r =2 o (22)
70,0003 2 *2 +53] 1,400
O=H 2 (22X) 63,000
-LIHISH XI9E 22 ol
100,000& 630 *13] 63,000
206 =4I 100,000 100,000
01 M=l 100,000 100,000
OSAIIH ZH 22101 24 HE +L
50,000,000& *23! 100,000




A FSHAAZAIH A
M AATIAMANE2E (St 2t2/22)
=Rl NgsHEdst EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 96,000 11,000 85,000
01 Al&H| 78,000 11,000 67,000
O=FN 2 AId= X & B 78,000
—OHA ¥ HELA S RAIESH]
1,000,000 8K A 8,000
—SHEA(EA LYY 2) B
10,000,000 10,000
-FHAIE SHetH 8= A
20,000, 0002 20,000
~LHISHRIE] ZES M
20,000,000 20,000
-=H £E€2 € A4 R4
10,000,000 »23! 20,000
04 A2 S AIEH] 18,000 0 18,000
O=MZ OlsA=tda S SAlad=E Ald
SAt 500,000 110 #2353 11,000
O=N%ags s2& &X =29
7,000,000& *12] 7,000
SESMN2ENHt 29 2,774,415 0 2,774,415
306 EH= 2,774,415 2,774,415
01 9= 2,774,415 2,774,415
OgE=snN23Me 22 2,774,415
-SELHIUNSEM Al 1,285,900,000& 1,285,900
st =eid OhE
1, 158,900,000 1,158,900
2T (212 S)
259,615,000 259,615
TEZAR 222 7
70,000,000& 70,000
Z2R3 X KA 60,000 60,000
307 el2to| & 60,000 60,000
04 QIZHHAMAIH 2 £ 60,000 60,000
O=HIH=Hl XI& 60,000,000 60,000
RHEE 28 & 2 90,384 90,384
101 e124d| 83,784 83,784
M ORNZZ2NSE S 83,784 83,784
OWHME & 2l21b| 83,784
-Jl==g 76,9602 *3% x2492 +8(fk 45,992
=s5=g 76,9602 x38 x52& x80% 9,605
-F22f=¢ 76,9602 *32H x104 2! +80f% 19,210
2" = 74,808,300 *12% 8,977
201 Ler23 | 6,600 6,600
01 At2t2ltl 4,400 4,400
Oggt=3ZH| 4,400
-otll, E2= M| 500,000& 42| 2,000
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_C'!_}\_I : zjt_x.”OHAH}\I.O'{A
Hu: AATDAMANYSY(SSHURIT/ )

=aak IE%HI%‘;@ N T EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“RAIEE A2 =& 600,000%22] 1,200
—=2g=5 7 100,000+ 122 1,200
02 S3=gHl 2,200 0 2,200
OClHIAIEE 100,000& * 12 1,200
OWAIZ EHI KX 1,000,000 1,000
Al 2tel 5,469,669 3,821,194 1,648,475
= 1,800,000
s 3,669,669
SEJIEAIERA2el & Ed 1,146,526 1,049,921 96,605
101 @124H| 365,099 325,271 39,828
MU IIRIMZENSES 365,099 325,271 39,828
O=3ls sRael URY 311,339
== 76,9603 x 12 x249! 229,957
=58 76,9603 x12H x52& 48,024
-AUHEES(MLIRES)
277,981,000 *12% 33,358
O=& Ul 24171 2=
192,000 6 * 10 %42 46,080
O=HEHl ZB2A=0 HE LAIAS 2=
= 192,000 x2E 102 +2Z 7,680
201 er2 3| 38,717 20,636 18,081
01 At2t2lt] 20,040 7,500 12,540
O=3ae| g2 sds ?(st S20A
8,000 x4 »90! 2,880
OEAHEAN € EFF 7
50,0008 x155+23] 1,500
OU=I| =2l & AZXH RA(&8, M=
Al) 500,000% *12]+3& 1,500
O=ZAIE =&SA 20,0002 62 120
OZESROIPA 342 AUS(MIIZTEE)
390,000 «124+36& 14,040
02 s3=gHl 18,677 13,136 5,541
O3zl =)l FRRUI(FLYR)
1,740 1002 | & <23 «6& 2,088
O3zl 22 RRH(ZR)
1,840 1602 | Efx22] 4 & 2,3%
O3gae| EH RJUI(ZR)
1,840 *1602| E{ x22/«6E 3,533
OE=H, d=2J| 24l 7,200
AT WEk 1,200,000& 1,200
-ZEiele WAl 1,000,000 1,000
-EtOI01 WAl 2,000,000 2,000
-LEZAHXE =2 1,000,000& 1,000
-AE/elE el 1,200,000 1,200
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2A:

SHIAA LA A
HE: AATDRAMANNSY (DU R/ )
Rl Al 2t EER=E)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
-E2I| ARE(ZH,E0IN,2Y) WAl
800,000& 800
OZCIAD|(SAtA 2EAl) 23] 3,500
-SAHAL EA MlE=01E WA
1,500,000& 1,500
~SIAL BEA IS OIE L ARE L2
2,000,000& 2,000
206 =8l 216,560 200,675 15,885
01 M=l 216,560 200,675 15,885
O3& ¥ MEHsA 2= S 7 8,000
-LD THOIZE 53(15,20,25,30,50mm)
500,000& *3*1& 1,500
-15mE A, PC2H S 108
50,0003 *10JH+3& 1,500
-Z2El|, S s 53
50,0002 #5042 1,000
-2EH EX S 208 20,0003 *20H+53 2,000
-PA-1688 2E{(20+) 500, 000& *40H 2,000
O=3t&F AN & 228 NN 72 173,560
A& 7,150&*1,00000x2& 14,300
-=gHlZ, 224 20,0003 x20004 4,000
-FYdlZ 20,0002 x2004 4,000
-Elt| 5,000& 2004 1,000
-OtALE 2420002 *300H 7,260
-Z3F AME Edol #E
50,0003 =804 4,000
-HENH YHE A 20,0003 *2000H 4,000
-Z3tE 2el8 32 #Y
5,000& *2,00004 10,000
-LHISH OiH] 32HEE =3t7 78
2,000& 30,0004 60,000
-LIHIEH =8l SUSR JAUSR AEE =
Z g 15,000 *4, 00004 60,000
-LiHlw HEE 8,012 =8t 7Y
5,000,000 *1JK 5,000
OAMAZE 290 2 Z22HE =517 +Y
35,000,000 35,000
401 Al&HIZ 20| 526,150 498,319 27,831
01 AlEHI 470,000 454,000 16,000
O=H =4l & 0tRelol O =gHoig ™
2l 15,000,000 15,000
O3& =37 2elg e dE2= 9|
350,000,000& 350,000
O33AdE, Bz 28 72+
30,000,000& 30,000
OZZANES(0hell Jt2S) THIA
30,000,000 30,000




2A:

MM AATDAMANES(SSUDT /)
Rl Al 2t EER=E)
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